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Passage 3

Beavers, North American largest rodents, appear to lead such exemplary lives that
trapper once rather romantically observed that "beavers follow close to the line of the Ten
Commandments.” The Ten Commandments do not mention anything about building dam
lodges, and canals, however, and the beaver's penchant for doing so has got it into a lot of hot
water lately. Fishing enthusiasts in the Midwest and New England are complaiging about
beaver dams that spoil streams for trout and, in the Southeast, lumber companiesyobject
whenever the animals flood out valuable stands of commercial timber. But some,beaver experts
champion a more charitable view. Historically, they say, this creature's impact on the
environment has been tremendously significant and its potential as‘a pragtical conservation

resource is receiving more and more attention.

When it comes to modifying the landscape in @major, way, the beaver ranks second
only to humans among all living creatures. "Some(people think of the beaver the same way
they think of the gypsy moth." said one scientista T heysthink it just comes through and eats
and destroys. What they don’t understand,ig'the fact that for centuries this animal has controlled

the character of the forests and streams-that it occupies.”

1. Which of the following is the(bestititlefor this passage?

(A) The Controversy over Beavers and the Environment

(B) New England's Beaver Ropulation

(C) The Influence @f Beavers on the Fishing Industry

(D) Beavers andthe T.en Commandments

2. lnulines 4-5, the‘author refers to hot water’ to indicate that beavers
(A) are"able te cook their food

(B) are ifftrouble

(C) have a form of plumbing

(D) enjoy hot baths

3. From the passage, which of the following can be inferred about gypsy moths?

(A) They conserve resources.
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(B) They build small dams.

(C) They have a bad reputation.

(D) They eat fish.

4. According to the passage, lumber companies complain because beavers ........

(A) attract other large rodents
(B) ruin trout streams ® \
(C) destroy too many buildings \

(D) create floods in forests %‘
5. According to the passage, which of the following cause th estychanges in the

environment?

(A) Humans %
(B) Trout %

(C) Gypsy moths

(D) Beavers vg
6. In line 15, what does ‘it’ refer to?%
(A) A fact QJ
(B) A century b
(C) An animal %
(D) A character o \x
Q
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Passage 4

The energy content of food is measured in calories. The calorie is defined as the heat
energy needed to raise the temperature of one kilogram of water from 14.5 ~ to 15.5 degrees
centigrade. The calorie used in nutrition is sometimes spelled with a capital "C" to distinguish
it from the much smaller energy calorie used in physics and chemistry, but it is more properly
called the kilogram-calorie, or kilo-calorie, because it is precisely 1,000 times the smaller unit,
or gram-calorie. The energy content of food is stored in the chemical bonds that link its,atoms

and molecules.

1. What is the main subject of the passage?
(A) A branch of chemistry

(B) A type of food

(C) A unit of energy

(D) An alphabet system

2. What does the author define in lings 1-2?
(A) The molecule

(B) The kilogram

(C) The kilo-calorie

(D) The gram-calorig

3. As compared to the'galorigfused in nutrition, the calorie used in physics and chemistry

(A) is smaller
(B)4s measured mare precisely
(C) variesymore in its spelling
(C) contains 1,000 more gram-calories
4. In line 4, the word “properly” is closest in meaning to which of the following?
(A) Cleanly
(B) Modestly
(C) Politely
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(D)Correctly

5. In line 6, the word ‘its’ could best be replaced by ................
(A) the energy's

(B) the food's

(C) the link's

(D) the molecule's

6. What does the passage imply about food with a high calorie content?
(A) It can yield a lot of heat energy.

(B) It has a high percentage of water.

(C) It should be stored only in cool places.

(D) It is hotter than food that has fewer calories.
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Passage 5

With the show Rodeo, Agnes de Mille had been an innovator in the world of ballet. But
with the show Oklohomao she revolutionized the Broadway stage, brought to an end the dance
line routine of high kicks and mechanized movement, and gave in its place dance and plot
smoothly integrated choreography reinforcing the action. Twenty-five years later, in March
1968, a New York Times article by theater critic Walter Kerr, headed "In the Begigning Was
Oklahomo" stated that ‘Oklahomo had a plot. It had to do with whether a boy would Succeed
in taking a girl to a lunch. At the end of the first half, this great issue wassstillunresolved, so
unresolved that its emotional implications had to be danced out at a greatiength inwhat remains

the most exhilarating dancing ... ever devised for the United States musical,comedy stage.’

The impact of Okloriomo was instantaneous. The song“Beautiful Morning' sounded out
via radios, in restaurants, from cars passing on the highWwayssin sftoeshine parlors. Full skirts
of gingham patterns, street shoes made to look like ballet slippers, the ponytail hairdo were the
rage. The play ran for five years and nine weeks tn,NewgYork City. A traveling road company
played it for nine and a half years. It also,t@tired abroad for several years. In 1955, it became a
movie. A newly assembled all-star company was sent abroad by the State Department as
representative of a part of United=States culture. As for Agnes de Mille her days of giving
recitals and losing $ 300 to $#4,000 each time were over. She became the most sought-after

choreographer on Broadway.

1. What is the authox’s'main purpose in the passage?

(A)To explainghe background of the song Beautiful Morning"

(B)To'eompare Rodeo and Qklahorna!

(C)T0 describe Agnes de Mille's success with Oklahoma

(D)To diseuss the fashions made popular by Oklahoma

2. The author cites Walter Kerr because he was ..................

(A) the composer of the music for Oklahoma!

(B) a dancer who performed with Agnes de Mille

(C) acritic who praised Agnes de Mule' choreography
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(D) the owner of The New York Times

3. In lines 13 — 14, the expression "were the rage" could best be replaced by ...............
(A) created chaos

(B) made people crazed

(C) made people angry

(D) were very popular

4. According to the passage, Oklahoma was selected by the State department™o be
performed abroad because it was ...............

(A) considered rather revolutionary

(B) representative of an aspect of American life
(C) poorly received in New York City

(D) an inspiring love story

5. The passage implies that prior to OklahomalAgnes,de Mille had given recitals that

(A) popular comedy routines
(B) financially unsuccessful

(C) performed at picnics

(D) broadcast over the radio

6. According to the passage,"what was most significant about de Mille’s work with
musicals?

(A)She wrote innoyativeymusic.
(B)She integrated dance and plot.
(C)She traveledhwith her shows.

(D)She ended a stage revolution.
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1990-01
Passage 1

The railroad industry could not have grown as large as it did with steel. The first rails
were made of iron, but iron rails were not strong enough to support heavy trains funning at
high speeds. Railroad executives wanted to replace them with steel rails because steel was ten
or fifteen times stronger and lasted twenty times longer. Before the 1870's, hewever; steel was
too expensive to be widely used. It was made by a slow and expensSive precessyof heating,

stirring, and reheating iron ore.

Then the inventor Henry Bessemer discovered that directing ablast of air at melted iron
in a furnace would burn out the impurities that made the ironbrittle. As the air shot through
the furnace, the bubbling metal would erupt 4n showers ofssparks. When the fire cooled, the
metal had been changed or converted to steel. The Bessemer converter made possible the mass
production of steel. Now, three to five togs ofiiron could be changed into steel in a matter of

minutes.

Just when the demand for'moreland more steel developed, prospectors discovered huge
new deposits of iron ore inithe Mesabi Range, a 120-mile-long region in Minnesota near Lake
Superior. The Mesabixdeposits were so near the surface that they could be mined with steam

shovels.

Bargés and Steamers carried the iron ore through Lake Superior to depots or the

southernishores of Lake Michigan and Lake Erie. With dizzying speed, Gary, Indiana and
Toledo, ¥oungstown, and Cleveland, Chic became major steel-manufacturing centers.

Pittsburgh'was the greatest steel city of all.

Steel was the basic building material of the industrial age. Production skyrocketed from

seventy-seven thousand tons in 1870 to over eleven million tons in 1900.

1. Which of the following is the best title for the passage?

(A) The Railroad industry
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(B) Famous Inventors
(C) Changing Iron into Steel
(D) Steel Manufacturing Centers

2. According to the passage, the railroad industry preferred steel to iron because steel

(A) cheaper and more plentiful
(B) lighter and easier to mold

(C) cleaner and easier to mine
(D) stronger and more durable

3. According to the passage, how did the Bessemer method make the mass production of
steel possible?

(A) It directed air at melted iron in a furnace, removing all impurities.

(B) It slowly heated iron ore, then, stirred it and heated it @gain.

(C) It changed iron ore into iron, which was a‘stlastitute for steel.

(D) It could quickly find deposits 6f irom, oresunder the ground.

4. The furnace that Bessemer used to"process Iron into steel was called a ..............
(A) heater

(B) steamer

(C) converter

(D) shower

5. Accordingdetheypassage, where were large deposits of iron ore uncovered?
(A) In"RittsSburgh

(B)in.the Mesabi Range

(C) Neardfake Michigan

(D) Near Lake Erie

6. In line 17, the words ‘barges and steamers’ could best be replaced by which of the
following?

(A) Trains

(B) Planes
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(C) Boats
(D) Trucks
7.1t can be inferred from the passage that the mass production of steel caused ...............

(A) a decline in the railroad industry
(B) a revolution in the industrial world
(C) an increase in the price of steel ®

(D) a feeling of discontent among steel work \
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Passage 2

The origins of the horse go back to eohippus the "dawn horse" of Miocene, only 10 to
20 inches tall. Like its relatives the ancient tapir and rhinoceros, eohippus had four toes on its
front feet, three on the rear, and teeth adapted to a forest diet of soft leaves. Eohippus died out

about 5.1 million years ago in both North America and Europe.

Late ancestral horse types moved from their forest niche out onto the grassy plains.

Their teeth are to accommodate to hard siliceous grass. No longer could thesegroto-herses slip

away through thick forest when dancer threatened... Escape—hewdemarded Speed—and

1. The passage mainly discusses the ...............

(A) evolution of the horse

(B) 5#Z€ of eohippus

(C) animals of the Eocene

(D) plight of endangered species
2. The author states that eohippus\was related to the ...............
(A) horsefly

(B) tapeworm

(C) hippopotamus

(D) rhinoceros

3. What did,the eohippus eat?
(A)\Rhinoceros meat

(B) Soft leaves

(C) Hard siliceous grass

(D) Other horses

4. In what way, did predators present less of a threat to eohippus than to later proto-
horses?

(A) Eohippus was hidden by the forest.
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(B) Eohippus could run farther.

(C) Eohippus was not edible.

(D) Eohippus was larger and stronger.

5. The paragraph following the passage most probably discusses .............

(A) other changes that the rhinoceros has undergone

(B) more reasons for the extinction of eohippus ®
(C) further development of early horse types \
(D) the diet of eohippus °
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Passage 3

In terrestrial affairs, we think of "big" as being complicated; a city is more intricate than
a village, an ocean more complicated than a puddle. For the universe, the reverse seems to be
the case; bigger is simpler. Galaxies have some puzzling features, but on the whole, they are
scarcely more complicated than the stars that compose them beyond the galaxies in the
hierarchy of the cosmos. There are clusters of galaxies; these clusters are loosely baund by the
gravity of their largest members and tend to look very much the same in all directions, Simplest
of all is the universe at large. It is far less complicated than the Earth, ong ofiits most trivial
members. The universe consists of billions of galaxies flying apart as if from an explosion that
set it in motion. It is not lopsided, nor does it rotate. The more thoroughly Seientists investigate

the universe, the more clearly its simplicity shines through.

1. What is the main point made in the passage?

(A) The Earth is more complicated than the solar Syster:

(B) The universe is filled with puzzling matertals.

(C) The universe is a relatively stmple phenomenon.

(D) Galaxy clusters are an illusion.

2. According to the passage, clusters of galaxies are .............
(A) indiscernible in the.cosmos

(B) held together by gravity:

(C) made up of only @pe or two galaxies

(D)sereated when'stars explode

3. Aceordingrto the passage, which of the following is the most complicated?
(A) The Earth

(B) A cluster of galaxies

(C) The universe

(D) A galaxy
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4. It can be inferred from the passage that future research will support which of the
following statements?

(A) Scientists in the past have been misled by the apparent simplicity of the universe.
(B) The chaos and confusion of the universe will never be understood.
(C) Findings will confirm the belief that the universe is simple.

(D) Billions of galaxies are predicted to explode, adding to universal complexigl.
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Passage 4

Arid regions in the southwestern United States have become increasingly inviting
playgrounds for the growing number of recreation seekers who own vehicles such as
motorcycles or powered trail bikes and indulge in hill-climbing contests or in carving new trails
in the desert, but recent scientific studies show that these off-road vehicles can cause damage
to desert landscapes that has long-range effects on the area's water-conservingycharacteristics
and on the entire ecology, both plant and animal. Research by scientists in the western‘Mojave
Desert in California revealed that the compaction of the sandy arid soilgresulting, from the
passage of just one motorcycle markedly reduced the infiltration ability of the soil.and created
a stream of rain runoff water that eroded the hillside surface._In ‘additien, the researchers
discovered that the soil compaction caused by the off-road ‘wehiglés often killed native plant
species and resulted in the invasion of different plant species within a few years. The native
perennial species required many more years before. they“showed signs of returning. The
scientists calculated that roughly a century would be required for the infiltration capacity of the

Mojave soil to be restored after being compacted by Vehicles.

1. What is the main topic of thegpassage?
(A) Problems caused by recrgatignakyehicles
(B) Types of off-road,vehicles
(C) Plants of the southwestern desert
(D) The increasingnumber of recreation seekers
2. Accergding to the passage, what is being damaged?
(A)WMotorcycles
(B) The desert landscape
(C) Roads through the desert
(D) New plant species
3. According to the passage, the damage to plants is .........c.cccevneene.
(A) unnoticeable
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(B) superficial

(C) long-lasting

(D) irreparable

4. According to the passage, what happens when the soil is compacted?
(A) Little water seeps through

(B) Better roads are made

(C) Water is conserved

(D) Deserts are expanded

5. What is happening to the desert hillsides?

(A) The topsoil is being eroded

(B) The surface is being irrigated

(C) There are fewer types of plants growing on them

(D) There are fewer streams running throughthem

6. According to the passage, what is happeninggo native plants in these areas?
(A) They are becoming more compact.

(B) They are adapting.

(C) They are invading other aeas.

(D) They are dying.

7. It can be inferred that which of the following people would probably be most alarmed
by the scientistsifindings?

(A) Historians
(B)gMapmakers
(C) Farmer

(D) Ecologists
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Passage 5

Certainly one of the most intelligent and best educated women of her day, Mercy Otis
Warren produced a variety of poetry and prose. Her farce The Group (1776) was the hit of
revolutionary Boston. A collection of two plays and poems appeared in 1790, and the three-

volume History of the Rise, Progress, and Termination of the American Revolution.

Interspersed with Biographical and Moral Observations appeared in 1805. “She wrote
other farces as well as anti-Federalist pamphlet, Observations on the New Constitution and on
the Federal and State Conventions (1788). There is no modern edition of hemwarks, but there
are two twentieth-century biographies, one facsimile edition of The Group,andia generous
discussion of her farces and plays in Arthur Hubson Quinn's A HiStory of the American Drama
From the Beginning to the Civil War. Of her non-dramatic poetry,critics rarely speak. Mercy
Otis was born into a prominent family in Barnstable gMassachusetts. In 1754, she married
James Warren, a Harvard friend of James Otis an@d John, Adams. Warren was to become a
member of the Massachusetts legislature just before thewwar and a financial aide to Washington
during the war with the rank of major gener@I he friendship of the Warrens and Adamses was
lifelong and close: Abigail Adams was*enesof Mercy Warren's few close friends. Following
the war, James Warren reenteredgpolitiCs to’oppose the Constitution because he feared that it
did not adequately provide for._protection of individual rights. Mercy Warren joined her
husband in political battle#The passage of the Bill of flights marked the end of their long period

of political agitation.

In whatevenrliterary form Warren wrote, she had but one theme-liberty. In her farces
and history,it was national and political freedom. In her poems, it was intellectual freedom. In
her anti-Federalist pamphlet, it was individual freedom. Throughout all of these works,
moreover,runs the thread of freedom (equal treatment) for women. Not militant, she

nevertheless urged men to educate their daughters and to treat their wives as equals.

1. Which of the following is the main topic of the passage?
(A) Mercy Otis Warren and other poets of the Revolutionary War period

(B) The development of Mercy Otis Warren's writing style
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(C) Mercy Otis Warren's contributions to American literature and society
(D) The friends and acquaintances of Mercy Otis Warren

2. In what year, was Warren's pamphlet about the Constitution written?
(A) 1776

(B) 1788

(C) 1790

(D) 1805

3. Which of the following is NOT mentioned as a kind of writing done by, Warren?
(A) Farces

(B) Poetry

(C) Plays

(D) Advertisements

4. The author implies that Mercy Otis Warren felt the,Constitution would fail to Protect

(A) literary progress
(B) political parties
(C) the American economy
(D) personal freedom
5. In line 20, the word ''but’* could best be replaced by which of the following?
(A) only
(B) yet
(C)gstill
(D) however
6. According to the passage, the kind of liberty emphasized in Warren's poems was ......
(A) national
(B) intellectual
(C) political
(D) religious
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7. In lines 24 - 25, the author refers to Warren as '""not militant" to indicate that she ......
(A) remained politically aloof

(B) did not continue agitating for a Bill of flights

(C) did not campaign aggressively for women's rights

(D) did not support military conscription
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1990-05
Passage 1

In the past, oysters were raised in much the same way as dirt farmers raised tomatoes -
- by transplanting them. First, farmers selected the oyster bed, cleared the bottom ofiold shells
and other debris, then scattered clean shells about. Next, they "planted” fertilized oystereggs,
which within two or three weeks hatched into larvae. The larvae drifted tmtilthey attached
themselves to the clean shells on the bottom. There, they remained an@"in time grew into baby
oysters called seed or spat. The spat grew larger by drawing ifn“seawater from which they
derived microscopic particles of food. Before long farmers ‘gathered the baby oysters,
transplanted them in other waters to speed up their growth, then transplanted them once more

into another body of water to fatten them up.

Until recently, the supply of wild oysters and those crudely farmed were more than
enough to satisfy people's needs. But today the delectable seafood is no longer available in

abundance. The problem has beceme So serious that some oyster beds have vanished entirely.

Fortunately, as far back ‘as the,early 1900's marine biologists realized that if new
measures were not taken, aysters'would become extinct or at best a luxury food. So, they set
up well-equipped §atChieriesiand went to work. But they did not have the proper equipment or
the skill to handlggtheteggs,, They did not know when, what, and how to feed the larvae. And
they knew little"aboutthe predators that attack and eat baby oysters by the millions. They failed,
but they,dbggedly kept at it. Finally, in the 1940's a significant breakthrough was made.

The marine biologists discovered that by raising the temperature of the water, they
could indtce oysters to spawn not only in the summer but also in the fall, winter, and spring.
Later they developed a technique for feeding the larvae and rearing them to spat. Going still
further, they succeeded in breeding new strains that were resistant to diseases, grew faster and
larger, and flourished in water of different salinities and temperatures. In addition, the

cultivated oysters tasted better.
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1. Which of the following would be the best title for the passage?

(A) The Threatened Extinction of Marine Life

(B) The Cultivation of Oysters

(C) The Discoveries Made by Marine Biologists

(D) The Varieties of Wild Oysters

2. In the first paragraph, the production of oysters is compared to what other ‘industry?
(A) Mining

(B) Fishing

(C) Banking

(D) Farming

3. In the passage, which of the following is NOT mentighed"as a stage of an oyster's life?
(A) Debris

(B) Egg

(C) Larvae

(D) Spat

4. When did scientists discowver that oysters were in danger?

(A) In the early part@©f the'nineteenth century

(B) At the beginning,of'this century

(C) In the 1940's

(D) Just recently

5. (According te the passage, which of the following words best describes the efforts of the
marine biglogists working with oysters?

(A) Persistent

(B) Intermittent

(C) Traditional

(D) Fruitless

6. In the passage, the author mentions that the new strains of oyster are ..............
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(A) cheaper
(B) shaped differently

(C) better textured
(D) healthier

7. In what paragraph, does the author describe successful methods for increasing the

oyster population? o
(A) First \\

(B) Second °
(C) Third

(D) Fourth

8. Which of the following best describes the organizatio %age?

(A) Step by step description of the evolution of marine

(B) Discussion of chronological events concerning Qyster uction

(C) Random presentation of facts about oyster

(D) Description of oyster production at differ ographic locations
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Passage 2

Political controversy about the public-land policy of the United States began with the
American Revolution. In fact, even before independence from Britain was won, it became clear
that resolving the dilemmas surrounding the public domain prove necessary to preserve the

Union itself.

At the peace negotiations with Britain, Americans demanded, and got ‘&, western
boundary at the Mississippi River. Thus the new nation secured for its birthright a vas, internal
empire rich in agricultural and mineral resources. But under their colonial charters, seven states
— Massachusetts, Connecticut, New York, Virginia, North Carolifia;4South Carolina, and
Georgia — claimed portions of the western wilderness. ¢Virginia's ¢laim was the largest,
stretching north and west to encompass the later states of g<entueky; Ohio, Indiana, Illinois,
Michigan, and Wisconsin. The language of the chéfterss\was® vague and their validity
questionable. But during the war Virginia reinforced itsititle® by sponsoring colonel George
Rogers Clark's 1778 expedition to Vincennesiand,Kaskaskia, which strengthened America's

trans-Appalachian pretensions at the peacestable.

The six states holding “no claigy tosthe transmontane region doubted whether a
confederacy in which territory was sownevenly apportioned would truly prove what it claimed
to be a union of equals. Already, New Jersey, Delaware, Rhode Island, and Maryland were
among the smallest and Teast poptilous of the states. While they levied heavy taxes to repay
state war debts, theit\arger neighbors might retire debts out of land sale proceeds. Drawn by
fresh lands and Jowitaxesppeople would desert the small states for the large, leaving the former
to fallintobankruptey and eventually into political subjugation. All the states shared in the war
effort, said,the’New Jersey legislature how then could half of them 'be left to sink under an
enormous debt, whilst others are enabled in a short period to replace all their expenditures from
the hard earnings of the whole confederacy?' As the Revolution was a common endeavor, so

ought its fruits including the western lands, to be a common property.

1. With which of the following topics is the passage primarily concerned?
(A) A controversial public-land policy

(B) How independence from Britain was won
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(C) The land holdings of Massachusetts
(D) How New Jersey developed its western land

2. According to the passage, the British granted the new American nation a western
boundary at ............

(A) Ohio

(B) Hlinois

(C) the Mississippi River

(D) the Appalachian Mountains

3. Which state laid claim to the largest land-holdings?

(A) North Carolina

(B) South Carolina

(C) Virginia

(D) Georgia

4. In line 10, the word *'stretching'* could best beyeplaced by which of the following?
(A) Lengthening

(B) Increasing

(C) Exaggerating

(D) Extending

5. Why does the author mention Colonel Clark’s expedition?
(A) To explain hew one, state strengthened its land claims

(B) To criticize aneffart to acquire additional agricultural resources
(C)gPo show that'many explorers searched for new lands

(D) Toquestien the validity of Virginia's claims

6. According to the passage, the smaller states tried to raise money to pay their war debts

(A) collecting taxes
(B) exporting crops
(C) selling land
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(D) raising cattle
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Passage 3

Without regular supplies of some hormones, our capacity to behave would be seriously
impaired; without others we would soon die. Tiny amounts of some hormones can modify our
moods and our actions, our inclination to eat or drink, our aggressiveness or submissiveness
and our reproduction and parental behavior. And hormones do more than influence adult
behavior; early in life they help to determine the development of bodily formyand,imay even
determine an individual's behavior capacities. Later in life the changing outputs of, some
endocrine glands and the body's changing sensitivity to some hormones atre essential aspects

of the phenomena of aging.

Communication within the body and the consequent intégration ‘of behavior were
considered the exclusive province of the nervous system up“te, the beginning of the present
century. The emergence of endocrinology as a separate @iseipline. can probably be traced to the
experiments of Bayless and Starling on the hormong secrétin,*This substance is secreted from
cells in the intestinal walls when food enters the'stomaeh: it travels through the bloodstream
and stimulates the pancreas to liberate"pagéreati€ juice, which aids in digestion. By showing
that special cells secrete chemical agents,that are conveyed 'by the bloodstream and regulate
distant target organs or tissues, Bayless,and Starling demonstrated that chemical integration
can occur without participatigmofthe nervous system.

The term "hormene\wasirst used with reference to secretin. Starling derived the term
from the Greek horfmonymeaning "to excite or set in motion." The term "endocrine™ was
introduced shoktlythereafter. "Endocrine™ is used to refer to glands that secrete products into
the bleodstreamt The term “endocrine™ contrasts with “exocrine,” which is applied to glands
that secrete, theig, products through ducts to the site of action. Examples of exocrine glands are
the tear glands, the sweat glands, and the pancreas, which secretes pancreatic juice through a
duct into the intestine. Exocrine glands are also called duct glands, while endocrine glands are

called ductless.

1. What is the author’s main purpose in the passage?
(A) To explain the specific functions of various hormones

(B) To provide general information about hormones
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(C) To explain how the term "hormone™ evolved

(D) To report on experiments in endocrinology

2. Which of the following is NOT mentioned as an effect of hormones?

(A) Modification of behavior

(B) Sensitivity to hunger and thirst

(C) Aggressive feelings

(D) Maintenance of blood pressure

3. The passage supports which of the following conclusions?

(A) The human body requires large amounts of most hormones.

(B) Synthetic hormones can replace a person's natural supply of(hormones if necessary.

(C) The quantity of hormones produced and their effects on thesbody are related to a person's
age.

(D) The short child of tall parents very likely had a hormone/deficiency early in life.

4. It can be inferred from the passage that, before the Bayless and Starling experiments,
most people believed that chemical integration occurred only ...................

(A) during sleep
(B) in the endocrine glands
(C) under control of the nervous)system
(D) during strenuousiexercise
5. In line 14, the workd "liberate’ could best be replaced by which of the following?
(A) Emancipae
(B) Disgharge
(C)Surrender
(D) Save
6. According to the passage, another term for exocrine glands is ................
(A) duct glands
(B) endocrine glands
(C) ductless glands
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(D) intestinal glands
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Passage 4

During her New York days, Mabel Dodge had preached the gospel of Gertrude Stein
and spread the fame of her new style. Like Miss Stein, Mabel Dodge had long planned to "upset
America. With fatal disaster to the old older of things, Gertrude Stein had no interest in
anything that was not aggressively modern. She had conceived it as a part of her mission to
"kill" the nineteenth century "dead," and she was convinced that her work was ¢‘really the
beginning of modern writing." Her story "Melanctha" in Three Lives, privately printed in, 1907,
was the "first definite step," as she wrote later, “into the twentieth century’?, There was at least

a grain of truth in this.

Just then the movement of modem art, so called forqmany yearspwas also beginning in
Paris with Matisse and Picasso, and Gertrude Stein and hergorother,Leo were friends of triese
protagonists. The Stems had the means to buy their pigtisesnGertrude shared, moreover, the
point of view of these avant-garde artists, and she endeavaredto parallel in words their effects

in paint.

Gertrude Stein wrote her "Melanetha™while posing for Picasso's portrait of herself.
Picasso had just discovered AfriCan sculpture,previously interesting only to curio hunters, and
this may have set her mind running on,the"Black girl Melanctha, whose story was the longest
and most moving of her Threg Lives™it'was not difficult to find in these a trace of the influence

of African art, with the dffluencesalike of Matisse and Picasso.

1. With what topi€ is'the passage primarily concerned?

(A) Gertrude/Stein's most important works

(B)gbhetavantsgarde community in New York

(C) Gertrude'Stein's contribution to the development of modern literature
(D) The'reactions of various critics to modern art and literature

2. In the first paragraph, the author uses the phrase "preached the gospel in order to
emphasize Mabel Dodge's .............

(A) intense devotion to Gertrude Stein
(B) wide popularity with religious groups
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(C) competitive feelings toward Gertrude Stein
(D) deep admiration for nineteenth-century literature

3. According to the passage, Gertrude Stein was not interested in anything that was not

(A) controversial
(B) modern

(C) literary

(D) aggressive

4. According to the passage, Gertrude Stein planned to "'kill"* thesaineteenthycentury by

(A) ridiculing the writers of that period

(B) creating a form of writing for the twentieth century

(C) destroying all the books written during that perigd

(D) printing booklets promoting the merits of twentieth-century literature
5. The story '"Melanctha' first appeared imthe-w.....................

A) mid-nineteenth century

(B) late nineteenth century

(C) early twentieth century

(D) mid-twentieth century

6. Which of the following statements about the relationship between Gertrude Stein’s
and Henri Matisse’s work can be inferred from the passage?

(A) Matisse andéSteinhad very different ways of depicting reality.

(B) Matisse's later paintings were influenced by Stein's work.

(C) Stein preferred Matisse's work to that of other artists because it was more abstract.
(D) Stein tried to recreate in her writing the effects in Matisse's paintings.

7. Which of the following is mentioned as one of Picasso's interests?

(A) African art

(B) Classical literature

(C) American art
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(D) Modern literature
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Passage 5

Nast played an important role in President Lincoln's reelection. In 1864, the war was
not going well for the North. Many people blamed Lincoln. They were tired of the war. The
Democratic candidate, General George B. McClellan, promised peace at any price. Lincoln
didn’t think he had a chance to be reelected. In August he wrote: "It seems exceedingly
probable that this administration will not be reelected. But he had not countedyon the support
of Thomas Nast. Nast drew cartoons showing McClellan as a man who would cempgomise

with the South. The cartoons were effective, and helped President Lincolnwinireelection.

1. What is the author’s main point?

(A) Lincoln asked Thomas Nast for help, but Nast refused.

(B) Voters wanted a compromise with the South.

(C) Lincoln thought the voters would blame him for not endingsthe war.

(D) Thomas Nast's cartoons helped to reelectdsincoln.

2. According to the passage, how did Lincolmfeel"about his chances for reelection?
(A) Doubtful

(B) Enthusiastic

(C) Indifferent

(D) President Lincoln's su€eessor

3. It can be assumed that thefparagraph preceding the passage most probably discussed

(A) the United States\economy
(B)gsbhomas Nast
(C) General George B McClellan

(D) President Lincoln's successor
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1990-08
Passage 1

Scientists estimate that about 35,000 other objects, too small to detect with radar but
detectable with powerful Earth-based telescopes, are also circling the Earth at an“altitude of
200 to 700 miles. This debris poses little danger to us on the Earth, but since,it is traveling at
average relative speeds of six miles per second, it can severely damage _expensive equipment
in a collision. This threat was dramatized by a cavity, one-eighth of anfinch imdiameter created
in a window of a United States space shuttle in 1983. The pit was,determined to have been
caused by a collision with a speck of paint traveling at a speed,of‘about two to four miles per

second. The window had to be replaced.

As more and more nations put satellites into spaee, the risk of collision can only
increase. Measures are already being taken to centrelthe growth of orbital debris. The United
States has always required its astronautsyto Dag their wastes and return them to Earth. The
United States Air Force has agreed t@ conduet low-altitude rather than high-altitude tests of
objects it puts into space so that debris frem tests will reenter the Earth's atmosphere and burn
up. Extra shielding will also redueesthe risk of damage. For example, 2,000 pounds of
additional shielding'is being considered for each of six space-station crew modules. Further,
the European Spacé,Agencys an international consortium is also looking into preventive

measures.

1. Whiehfofithe following would be the best title for the passage?
(A)iLheRroblem of Space Debris

(B) The Space Shuttle of 1983

(C) The Work of the European Space Agency

(D) A Collision in Space

2. It can be inferred from the passage that, debris was harmful to one of the space shuttles
because the debris was ..........

(A) large
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(B) moving very fast

(C) radioactive

(D) burning uncontrollably

3. What effect did orbital debris have on one of the space shuttles?
(A) It removed some of the paint.

(B) It damaged one of the windows.

(C) It caused a loss of altitude.

(D) It led to a collision with a space station.

4. The word 'them™ in line 11 refers to which of the following?

(A) Astronauts

(B) Wastes

(C) Tests

(D) Crew modules

5. Which of the following questions is NOT answered by the information in the passage?
(A) How can small objects orbiting the Earth beseen?

(B) What is being done to prevent orbital debris from increasing?

(C) Why is the risk of damagesto Space equipment likely to increase?
(D) When did the UnitedsStates AirForce begin making tests in space?

6. Where in the passage does the writer mention a method of protecting space vehicles
against damage by space debris?

(A) Lines 1-3
(B)glzines 6-8
(C) Line'9

(D) Lines 13-15
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Passage 2

Scattered through the seas of the world are billions of tons of small plants and animals
called plankton. Most of these plants and animals are too small for the human eye to see. They
drift about lazily with the currents. Providing a basic food for many larger animals, plankton
has been described as the equivalent of the grasses that grow on the dry land continents, and
the comparison is an appropriate one. In potential food value, however, plankton fak@utweighs
that of the land grasses. One scientist has estimated that white grasses of the world produce
about 49 billion tons of valuable carbohydrates each year, the sea's plankton‘generates more

than twice as much.

Despite its enormous food potential, little effortqwas gmade “until’ recently to farm
plankton as we farm grasses on land. Now, marine scientists have,atdast begun to study this
possibility, especially as the sea's resources loom evengmere important as a means of feeding

an expanding world population.

No one yet has seriously suggested that®plankton burgers™ may soon become popular
around the world. As a possible farmedysupplementary food source, however, plankton is

gaining considerable interest amopg marine seientists.

One type of plankton that'seemsyto have great harvest possibilities is a tiny shrimplike
creature called krill. &rowing to two or three inches long, krill provide the major food for the
giant blue whale, ¢he Jargest.animal ever to inhabit the Earth. Realizing that this whale may
grow to 100 feet and weighwl 50 tons at maturity, it is not surprising that each one devours more

than one ton gf keill daily.

Kl swimabout just below the surface in huge schools sometimes miles wide, mainly
in the“cold, Antarctic. Because of their pink color, they often appear as a solid reddish mass
when viéwed from a ship or from the air. Krill are very high in food value. A pound of these
crustaceans contains about 460 calories -- about the same as shrimp or lobster to which they
are related. If the krill can feed such huge creatures as whales, many scientists reason, they

must certainly be contenders as a new food source for humans.

1. Which of the following statements best describes the organization of the passage?
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(A) The author presents the advantages and disadvantages of plankton as a food source.
(B) The author quotes public opinion to support the argument for farming plankton.
(C) The author classifies the different food sources according to amount of carbohydrate.

(D) The author makes a general statement about plankton as a food source and then moves to
a specific example.

2. According to the passage, why is plankton considered to be more valuable than land
grasses?

(A) Itis easier to cultivate.

(B) It produces more carbohydrates.

(C) It does not require soil.

(D) It is more palatable.

3. Why does the author mention **plankton burgers™ in line 18?
(A) To describe the appearance of one type of plankien

(B) To illustrate how much plankton a whale eonsumes

(C) To suggest plankton as a possible fopdsource

(D) To compare the food values of begfand‘plankton

4. Blue whales have been knowprtoweigh'how much at maturity?
(A) One ton

(B) Forty tons

(C) One hundred andhfiftyytons

(D) Four hundred and sixty tons

5. What iS'mentioned as one distinguishing feature of krill?
(A)Lhey.are the smallest marine animals.

(B) Theygare pink in color.

(C) They are similar in size to lobsters.

(D) They have grass-like bodies.

6. The author mentions all of the following as reasons why plankton could be considered
a human food source EXCEPT thatitis ..........

(A) high in food value
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(B) an abundant supply in the oceans
(C) an appropriate food for other animals
(A) free of chemicals and pollutants

7. Where in the passage does the author first compare plankton to land grasses?

(A) Lines 2-3

(B) Lines 4-5 . \
(C) Lines 13 - 14 \
(D) Lines 16-17 °
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Passage 3

The most interesting architectural phenomenon of the 1970's was the enthusiasm for
refurbishing older buildings. Obviously, this was not an entirely new phenomenon. What is
new is the wholesale interest in reusing the past, in recycling, and in adaptive rehabilitation. A
few trial efforts, such as Ghirardell Square in San Francisco, proved their financial viability in
the 1960's, but it was in the 1970’s with strong government support through taxgincentives and
rapid depreciation as well as growing interest in ecology issues, that recycling became‘a,major

factor on the urban scene.

One of the most comprehensive ventures was the restoration and tkansfermation of
Boston's eighteenth century Faneuil Hal and the Quincy Markegt.“§hisysection had fallen on
hard times, but beginning with the construction of a new city*hall fmmediately adjacent, it has
returned to life with the intelligent reuse of these fine ol@®uildings under the design leadership
of Benjamin Thompson. He has provided a marvelou$ setting for dining, shopping, professional

offices, and simply walking.

Butler Square, in Minneapolis, exemplifies major changes in its complex of offices,
commercial space, and public amenitiesscarved out of a massive pile designed in 1906 as a
hardware warehouse. The exciting interiortimber structure of the building was highlighted by

cutting light courts through the interierand adding large skylights.

San Antonio, Texas, offers an object lesson for numerous other cities combating urban
decay. Rather thaf bringing in the bulldozers, San Antonio's leaders rehabilitated existing
structures, whilesimultaneously cleaning up the San Antonio River, which meanders through

the busingss'district.

1. What'is,the main idea of the passage?
(A) During the 1970's, old buildings in many cities were recycled for modern use.
(B) Recent interest in ecology issues has led to the cleaning up of many rivers.
(C) The San Antonio example shows that bulldozers are not the way to fight urban Decay.
(D) Strong government support has made adaptive rehabilitation a reality.
2. What is the space at Quincy Market now used for?
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(A) Boston's new city hall

(B) Sports and recreational facilities

(C) Commercial and industrial warehouses

(D) Restaurants, offices, and stores

3. According to the passage, Benjamin Thompson was the designer for a projectin .........
(A) San Francisco

(B) Boston

(C) Minneapolis

(D) San Antonio

4. When was the Butler Square building originally built?

(A) In the eighteenth century

(B) In the early nineteenth century

(C) In the late nineteenth century

(D) In the early twentieth century

5. What is the author's opinion of the San Antonio project?

(A) Itis clearly the best of the projectsidiscussed.

(B) It is a good project that could e copied in other cities.

(C) The extensive use of pulldozerssmade the project unnecessarily costly.

(D) The work done @11 the rivefwas more important than the work done on the buildings.

6. The passage States that the San Antonio project differed from those in Boston and
Minneapolisiin whick of the following ways?

(A)glt consisted primarily of new construction.
(B) Tt'occurred in the business district.
(C) It involved the environment as well as buildings.

(D) It was designed to combat urban decay.
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Passage 4

The classic Neanderthals, who lived between about 70,000 and 30,000 years ago,
shared a number of special characteristics. Like any biological population, Neanderthals also
showed variation in the degree to which those characteristics were expressed. Generally, they
were powerfully built, short and stocky, with the lower parts of their arms and legs short in
relation to the upper parts, as in modern peoples who live in cold environments. Néanderthal
skulls were distinctive, housing brains even larger on average than those of modemyhumans, a
feature that may have had more to do with their large, heavy bodies dham, with Superior
intelligence. Seen from behind, Neanderthal skulls look almost spheticalzbutftom the side

they are long and flattened often with a bulging back.

The Neanderthal face, dominated by a projecting and“full*nose, differed clearly from
the faces of other hominids; the middle parts appear togseypubled forward (or the sides pulled
back), resulting in a rather streamlined face shape. (This pecutarity may have been related to
the greater importance (in cultural activities as Welhas feed processing) of the front teeth, which
are large and part of a row of teeth that fiestwell farward in the head; it may reflect a reduction
in importance of certain jaw musclesgoperating ‘at the sides of the face; or it may reflect an
adaptation to cold. Whether it resultsfrom’ any or all of these three factors or from other,
undiscovered causes, this midsfactal projection is so characteristic that it unfailingly identifies
a Neanderthal to thedrainedieye. Neanderthal teeth are much more difficult to characterize: the
front teeth are large, with strong roots, but the back teeth may be relatively small. This feature

may have been an‘adaptation to cope with heavy tooth wear

1. What dees the passage mainly discuss?

(A) The eating habits of the Neanderthals

(B) A comparison of various prehistoric populations

(C) The physical characteristics of the Neanderthals

(D) The effect of climate on human development

2. The author describes the Neanderthal as being all of the following EXCEPT ..............
(A) short

(B) swift
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(C) strong
(D) stocky

3. Which of the following most likely accounts for the fact that the Neanderthal brain
was larger than that of the modern human?

(A) The relatively large size of the Neanderthal's body
(B) The superior intelligence of the Neanderthal

(C) The swelling behind the Neanderthal's head

(D) The Neanderthal's mid-facial projection

4. Where in the passage does the author specifically stress thesContkast Retween the
Neanderthal face and that of other biologically related populations?

(A) Lines 1-4
(B) Lines 7-9
(C) Lines 10-11
(D) Lines 18-20

5. Which of the following explanationsgis,NQT cited as a possible explanation of the
Neanderthal’s streamlined face shape?

(A) Some jaw muscles had limitedwse:

(B) The facial features were well adapted to the cold.
(C) The front teeth weere particdlarly important.

(D) The nose was Set farback

6. The phrase "the trained eye™ in line 18 most likely refers to which of the following
professionals?

(A)An optometrist
(B) Avdentist

(C) An anthropologist
(D) A photographer

7. In line 20, the author uses the expression "“heavy tooth wear™ to imply that the
Neanderthals ..................

(A) had unusually heavy teeth
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(B) used their teeth extensively

(C) regularly pulled out their teeth

(D) used teeth for ornamentation

8. The paragraph following this passage most probably discusses ..................
(A) other features of the Neanderthal anatomy

(B) cave painting of prehistoric time ®

(C) flora and fauna of 70,000 years ago \

(D) difficulties in preserving fossils
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Passage 5

Television was not invented by any one person. Nor did it spring into being overnight.
It evolved gradually, over a long period, from the ideas of many people -- each one building
on the work of their predecessors. The process began in 1873, when it was accidentally
discovered that the electrical resistance of the element selenium varied in proportion to the
intensity of the light shining on it. Scientists quickly recognized that this prowided a way of
transforming light variations into electrical signals. Almost immediately a numberef sehemes

were proposed for sending pictures by wire (it was, of course, before radio).

One of the earliest of these schemes was patterned on the human, ey&suggested by G.
R. Carey in 1875. It envisioned a mosaic of selenium «ellsgorywhich“the picture to be
transmitted would be focused by a lens system. At the receivingend,there would be a similarly
arranged mosaic made up of electric lights. Each selemiuni®eell would be connected by an
individual wire to the similarly placed light in the receiving mosaic. Light falling on the
selenium cell would cause the associated electricightteshine in proportion. Thus the mosaic
of lights would reproduce the original pictures,Had the necessary amplifiers and the right kind
of lights been available, this system weuld*have*worked. But it also would have required an
impractical number of connectinghwives. Larey recognized this and in a second scheme
proposed to “scan™ the cells sstransmitting the signal from each cell to its associated light. If

this were done fast effough;ithelretgntive image was seen as a complete picture.

1. Which of the follewing is‘the best title for the passage?
(A) The Art ofslelevision

(B) Televisien in the Electronic Era

(C)Harmful Effects of Television

(D) First Step in the Invention of Television

2. In line 1 of the passage, the word "'being™ could best be replaced by which of the
following?

(A) place
(B) existence

(C) creature
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(D) subsistence

3. An important discovery in early television was the electrical resistance of ...............
(A) mosaics

(B) the human eye

(C) lenses

(D) the element selenium ® \\
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